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Me— (1) woft v} frard € | i
(2) it St 20 qA F A aiferar § )

@us—3A (Section-A)

. TTOM T 4699 T3 T A Jefor g | ]
Multiply 46x99 by sutra ckanyancna poorvena,

2 3 Y[ 9 Qe gRT 9Hid & i | 1
Using the sutra shunyam samyasachchaye. Solve the question.
a(x=1)+b(x-1)=c (x—1)+d (x-1)

3 96 3T 404 Fl Ho Ho o FT FHITT | 1
Find the H.C.F. of 96 and 404. '

4 g (-7,3) R x-aw A gl fafgn) 1
Write distance of point (=7, 3) from x-axis.

5 TARR A 4, 1, =2, =5, ......... 3 TR & T FafEn | 1

"~ Write the next twoterms of A.P. 4,1, =2, =5, ..........

6 sin® 80+ cos’ 80" &1 HAH W AT | 1
Find the value of sin® 80%+cos? 80° |

7 g R A A T 52 W F vw 1F A A v v fren s 1 g9
T % B S B4 FI NFHar 919 AT | 1
A card is drawn from a well shuffled pack of 52 card. Find the
probability that card will be face card.

8 P.U.C. F1 q0 M fa@l |
Write full name form of P.U.C.

9 Ife @ fag T AR O % At Rt 99 WTA 9 TB 9l Yamd 70° 3

HI0T R D A LAOB I FIT | 1

If tangents TA and TB from a point T 1o a circle with center O

inclined to each other at an angle of 70° then find ZAOB. .
10 Ygem % fat  fargnd fefed | 1

11

Find the locus of an e¢nd of a pendulum of the clock.
@us— (Section-B)

AT AT 12345+91 T H ER | 2

Divide 12345+91 by sutra dhavjank
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_ (2)
8 T8 R T wrom g1 iy prerd 2053 TI6TH AT F3 R
5'."E'W=samwaﬁ§7 . 2
Find _lhc largest number which 15 divided by 2053 and 967. Left
rcmainder as 5 and 7 rcspccﬁvcly. |
TSR Geritfeet a1 s 3y () 3 g0 & 1T 33 W AT A
AT T G | 2
Using division algorithm, djvide f(x) by g(x) and find quotient
and remainder, R '
£(x)=3C+13+2x+ 5, g(x) =14 2+ 52,

T JAHR ST & A ) firsgy 35 202 | 50 e anlf A7 HeT
atgt ant s gan } | vnt o AgpA R 2
The radius of a circular grass lands is 35m. Therc is a foot path
of width 7m. around in it. Find the arca of the foot path.

3.5 ¥rilo Fro & o 3w Shan T H% W A H0 90° R 1 W
SITaT GRT 97 - 96 WS w7 et J19 T | 2

Radius of a circle is 3.5 cm and the angle subtended by a chord
at the center is 90° find the - |

area of the minor segment of the circle formed by this chord.

(;::z;.). | - |

) WE—H (Section—C)° |
A AT Y g s 8 Fefto L6 Al 3T 1 A7fto 2 1 3R e wE
AT I ST S € | T o g gty Qe § S |

The edges of three cubes are 8 cm, 6 cm and 1 cm respectively.
After melting these cubes a new cube is formed. Find the total
surface area of new cube. :

0 HieT T T & ATHN F &< F AU R 9ty 44 R | 76 a7
I AR T A J0d T | c 3

The circumference of base of a conical tent is 9m and height is

. 44m. Find the volume of air inside it.

- ST 36 RO 9 Y T A | S 10,5, 127, 13 il

e 3

Draw a circumcircle of triangle with sides respectively 10.5,
12.7and 13 cm. - - . .

e gt T Aol § € | 3fz deelt & AT S0 79 wa et wem
g B3 GE F TR R ) g 919 R |

" Four numbers arc in AP, If sum of numbers is 50 and largest

number is four times the smaller one then find the numbers.

o ey Y ¥ Fad 52 Ty o # MAFF IR RN 3
Find the probability that 5 common year (not a leap year)
contains only 52 Sunday.
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7t w8 Rt e g g e e 2 9

¥ WIE (Foot) q“mmﬁﬁﬁﬁtﬁfmﬁmﬁm 1753
A'ﬂglc of clevation of lUr! 0[ | lower from a Tm hlgh blll]ding is
60° and angle of depression of its foot is 45°, Find the height of
%1; tower, . . ) 3ﬂT N ' _

ST fagat A, B C3 o 3t 79
R 2 A 3 a1 T I iy R e P 3
What will be the locus of thtee non collingar points A, B and C
? Justify your answer.

- i Sy Frlt frge! A A el 35 men Pt o s Prery

T TR B e e B P g 3
Prove the four triangles obtained by Joining the mid-points of
three sides of A triangle are similar to the original triangle,

Ferelt e o e en S P 36 s @ | 30 S 270 € e
et foreg, o o htor 9@ S | 3
If the length of a chord is equal to its radius, then find out the
angle on the major segment in a circle, '

T 7 It & ¥ F 25 AT X 3 Ta & om ft araram 3w g
2 1 0 AR 3 e 39 T A 99 | 3

A CCTV camera is placed on the top of a 24 m high pole in
such a way that traffic can be seéen beyond 25 meter of line of
sight of it. Find the area of the Green Path around the pole.

Wug—7 (Section-D) :
For1 Y weterton g ot aeraty fafty g we ST qa y- 2.9
7 g Forefira Tt @ fafifa o & vt & Féwis @ Sif) 6

Solve the following linear pair by graphical method and find
coordinates of vertices of triangle, formed by y-axis and lines

formed by linear pair. https://www.rajasthanboard.com
4x-5y=20; 3x+5S5y=15

frrfafaa = adafirme # weraa ¥ fag it

Prove the following with the help of identities :

() Vsec’d+ cosec’d =tan 8+cot

(ii) cos'6+sin"9=1-2 cos’d sin’’ _

&ﬂﬁl\pn' .
e ifer |
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~ Prove;

(i) sin®6+cos®9=1-3 sindcos’p
(i) (sin B+ cosecB)?+(cos0+sec )= 7+ tan®-+ cod
() Ree R fag (1, 1 (52, 7) stk (3, - 3) s §1805,355, 5 5
Prove that points (1, (=2, 7) and (3, —3) are collinear. ’
. ' o Qo Jo
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( 4 )
(i) T SRR T B sy, g (—, P P30 (=5, ~9) ol
(-2,3) & m:ﬁmﬁamé! R
P 1 91 oft 316 Fifdy |
Find the ratio where poiny (-3, P) divides inlcrnallly ;'hijlinc
segment which joints poing (- 5, —4) and (-2,3). Also find P,
& AABC ¥ mﬂzmi/x[),lu([: e CF g G gt g et € )

o AR AD+BE> A, )

In a triangle medians AB, B, and CF interscct cach _‘“h"’ at G

prove that
AD+BE>§AB.

rgan (OR) .
W%Wa@ﬁlﬁpoaﬁ?XYWHﬁmgaﬁ
LQRT=30° A @ £ TSY FraF9C | - '

.According 1o fig. PQ and XY arc parallel tangent lines. If

LQRT =3(", then find the value of £ZTSY.

M

N

__ﬁnwmmﬂmﬁ@mammaﬂwﬁ)amm
ST | 6

Find the Arithmetic mean "(‘Hclp by Assumed mean) and also
find the mode.

. arEm)d 40-50 | 50-60 | 60-70 | 70-80 | 80-90 {90-100

. Weight (inK.G.) -
sEistger . | 10 | 25 | 28 12 | 10 | 15
No. of Students
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